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A#MET—TH 215 220 214 434
BHETZTH 370 399 424 823
A#MET=TH 568 558 719 1,277
AHETUTB 421 396 492 888
BSHET 369 408 473 881
REFIET—T B 375 380 432 812
BRAET=TH 492 479 523 1,002
RRAET=TH 656 572 668 1,240
EFET—THB 306 322 341 663
FFET=THB 267 280 295 575
EEET—TB 420 380 461 841
fBET—TH 481 436 524 960
EFSEE—TH 362 365 449 814
EERT=TH 324 311 348 659
EEE—TH 173 173 189 362
EEEZTH 326 319 363 682
HFEEI=TH 447 470 539 1,009
EEEET B 392 412 453 865
BEET—TH 292 294 314 608
BEET=TH 494 444 537 981
BEET=TH 470 532 607 1,139
AEETET B 644 686 786 1,472
WEET—TH 328 320 333 653
WERETZTH 248 225 217 442
HWEET=TH 399 353 329 682
WEATMT B 416 382 470 852
WEETETH 548 485 585 1,070
KFHET—TBE 99 92 111 203
KFETZTH 373 360 395 755
KFET=TH 190 165 197 362
HIEET—TH 369 360 364 724
MEET-TH 391 403 457 860
FHREE—TH 163 133 178 311
FHREEZTH 209 172 211 383
FRER=TH 199 172 197 369
FHRE/TUTHB 100 86 85 171
FRERETH 120 88 106 194
AET—TH 331 309 356 665
AET—TH 139 129 150 279
ABET=TH 240 227 233 460
FET—TH 528 513 597 1,110
*ET—TH 733 636 702 1,338
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=AET—TH 352 311 338 649
=AET=TH 298 256 267 523
ZHHET—TH 335 338 400 738
ZABRT_TH 246 268 281 549
ZFRET=TH 550 543 626 1,169
ZAETMTH 481 457 513 970
XEET—TH 774 868 949 1,817
XIRETZTH 507 558 596 1,154
7N ET 2,427 2,847 2,992 5,839
NEET—TB 274 308 342 650
FNEETMT B 56 57 65 122
X JII&#T 744 802 879 1,681
XRET—TH 805 875 928 1,803
XEETZTHE 648 744 801 1,545
XRET=TH 730 870 920 1,790
XRETHTB 441 453 533 986
MAET—TH 668 675 586 1,261
EET—TH 899 949 1,009 1,958
HET=TH 955 924 999 1,923
FEETmT B 497 477 536 1,013
#RHS L ET 365 423 485 908
FARTERN) 28,039 28,449 31,469 59,918
i BET 701 785 851 1,636
1 S ET 187 223 242 465
EEHT 456 598 568 1,166
FERT—TH 397 428 419 847
FERT=TH 415 404 507 911
BHERT=TH 635 703 722 1,425
SHERTMNTH 360 425 422 847
1% FRET 375 485 504 989
T BET 199 289 309 598
= HhET 174 232 212 444
izl 703 993 1,001 1,994
e 287 338 338 676
WWEBT—TH 1,015 1,180 1,155 2,335
IWFRT=TH 527 606 659 1,265
R PN ET 277 427 430 857
BREHT 547 782 818 1,600
[L3EET—THB 914 930 1,047 1,977
[LEEET=TH 1,604 1,581 1,854 3,435
[LEET=TH 1,356 1,250 1,523 2,773
T (ENIR#X) 11,129 12,659 13,581 26,240
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/N HHET 298 384 389 773
T HT 198 294 282 576
S EET 537 730 798 1,528
ESJCRRET 302 374 393 767
FYEHT 555 912 943 1,855
T FAT R ET 123 167 197 364
JIALET 250 330 349 679
{8 FLHT 60 920 86 176
B ALET 111 136 146 282
TJIET 786 893 931 1,824
(IRt E) 3,220 4310 4514 8,824
R R BT 365 488 522 1,010
/Nt BRET 201 285 273 558
i BT 226 283 291 574
FHET 402 488 529 1,017
5 ERET 614 791 870 1,661
INSRF-BT 668 920 929 1,849
FEHT 311 422 413 835
& FLET 208 202 225 427
=iEE—TH 314 349 376 725
BIEEZTH 603 666 712 1,378
FTCREHRX) 3912 4,894 5,140 10,034
={RET—TH 736 774 836 1,610
={&ET=TH 529 554 599 1,153
={RET=TH 684 737 810 1,547
SEIZAT 587 655 629 1,284
L hET 286 401 397 798
TR ET 498 538 599 1,137
A EE—TH 416 493 487 980
ARBEE_TH 923 934 1,046 1,980
ARBEE=TH 522 596 546 1,142
ARBEETmTH 498 526 463 989
AREETRETH 556 591 591 1,182
R EHE 690 889 895 1,784
L SRET 1,909 2,354 2,439 4,793
A REHET 102 124 137 261
B RET 662 701 824 1,525
$i ERT 469 602 612 1,214
Y&z THT 326 407 447 854
1R ET 623 898 955 1,853
ST RHET 1,232 1,379 1,447 2,826
FT(EEHX) 12,248 14,153 14,759 28,912
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5 HET 2,308 2,825 3,011 5,836
1% ZRHET 246 331 336 667
HiFS EHET 599 740 717 1,457
AIFEEAT=T B 171 225 247 472
JI| gy ET 903 1,011 1,035 2,046
FE 1T R ET 548 654 730 1,384
T $7HET 1,518 1,850 1,976 3,826
L FrEHET 1,412 1,672 1,744 3416
INE AT 989 1,096 1,030 2,126
INBARET—TH 145 140 170 310
=il 563 558 518 1,076
e —TB 640 642 662 1,304
JLHHET 954 1,127 1,113 2,240
EIRASEHT 112 133 130 263
St hS BT 332 367 367 734
AFIRET—TH 640 702 781 1,483
AFIRETZTH 589 644 729 1,373
HTRIASHT 360 314 341 655
BHEMT 220 275 292 567
FH(EH#EX) 13,249 15,306 15,929 31,235
JTHARLET 3,373 3,699 3,686 7,385
THtET—T B 414 474 506 980
MBI =TH 490 481 519 1,000
TTHRMHET=TH 57 65 67 132
ARET—TBH 207 209 194 403
ARBETZTH 591 608 608 1,216
ARET=TH 316 348 345 693
KEB—TBHE 282 276 290 566
KEBTZTH 3 2 1 3
AEHT 36 29 42 71
AEE—TH 164 178 191 369
BR2ETZTEH 184 174 205 379
AEEI=TH 158 167 155 322
ARETUTE 225 234 226 460
AEEETRATH 261 252 301 553
5 IET 602 649 468 1,117
THEEHE 425 427 449 876
FEET—TH 63 38 47 85
MEET=TH 291 231 243 474
T (ofettihX) 8,142 8,541 8,543 17,084
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Rt BT#R%E 2,048 2,356 2,335 4,691
HettET—TB 20 21 22 43
WHETZTH 331 351 321 672
HHET=TB 256 280 285 565
BHETET B 130 176 161 337
et BT HE B 1,367 1,627 1,703 3,330
RHETEH 332 344 376 720
=HET—TH 527 598 591 1,189
BB A R 384 482 483 965
BT (st X) 5,395 6,235 6,277 12,512
BT 1,075 1,343 1,378 2,721
THAFH-ET 1,749 2,120 2,218 4,338
At X B ET 1,299 1,487 1,627 3,114
T/INHET—THB 437 422 454 876
T/INHETZTH 978 936 908 1,844
T/INHET=THB 448 419 450 869
E/NHET—TH 564 632 632 1,264
F/INHETZTH 666 661 701 1,362
E/INHET=TH 679 714 737 1,451
BERK<FET 752 835 830 1,665
HHET 2,060 2,389 2,455 4,844
ik gl 880 866 979 1,845
mHET—TH 566 659 688 1,347
FRET=TH 653 711 702 1,413
RHET=TH 202 227 238 465
FRRETET B 179 209 192 401
A & <F AT 203 248 275 523
It T 43 60 58 118
z:fm]:is) 879 1,004 1,118 2,122
RE4RET 255 257 284 541
FE4RET—T B 187 238 255 493
BEiRET—TH 430 541 547 1,088
BEEET=THB 511 565 558 1,123
JII R BT 129 127 149 276
JNRET—TB 472 565 626 1,191
JNRET=THB 381 484 491 975
P AR HT 739 670 930 1,600
it (Pt X) 17,416 19,389 20,480 39,869
i BT 234 318 326 644
L+ EEFHET 175 249 248 497
HFEFHET 801 973 1,079 2,052
B EPHT 203 248 253 501
FTCERHX) 1,413 1,788 1,906 3,694
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XK SHT 1,185 1,314 1,317 2,631
RINKESE—TH 462 478 537 1,015
XINKSHTZTH 413 429 469 898
KINKSET=TH 826 876 854 1,730
L+ XREHET 766 989 1,024 2,013
= EHT 202 264 277 541
L+ RBLET 255 303 330 633
B EPHET 116 134 136 270
o deslii) 440 543 550 1,093
T RBLHET 218 312 306 618
/B R ET 145 200 196 396
b 2,910 3,453 3,584 7,037
TREBET 1,254 1,484 1,578 3,062
T GKEAHRX) 9,192 10,779 11,158 21,937
T REET 213 297 301 598
SRIRET 287 411 392 803
= HHET 698 995 998 1,993
FTOHT 357 506 518 1,024
SiFHET 512 723 749 1,472
75 K =HT 511 677 684 1,361
K=Y 262 330 331 661
B+ FHET 259 368 356 724
FHHHET 95 133 137 270
ZZ = 1,000 1,398 1,368 2,766
S FHET 259 376 338 714
HFHET 390 551 545 1,096
INERET 613 796 801 1,597
Nabii)) 555 637 674 1,311
TS HET 342 455 467 922
EENRET 562 743 764 1,507
T (EmHX) 6,915 9,396 9,423 18,819
K EAHET 649 730 831 1,561
R KHT 1,408 1,850 1,834 3,684
YRR ET 1,530 2,016 2,041 4,057
&R ET 447 644 602 1,246
FETEHT 536 762 778 1,540
HEALET 167 190 218 408
s [ BT 528 714 757 1,471
Rl s HT 1,195 1,549 1,667 3,216
L XREHT 429 567 519 1,086
FH(RHHEX) 6,889 9,022 9,247 18,269
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SERMET 910 1,325 1,377 2,702
HHEHT 587 785 823 1,608
i 2 B HET 238 359 346 705
=RRHET 106 123 115 238
my SHT 367 555 588 1,143
B 5T 165 262 245 507
KATHET 481 668 693 1,361
FT(EHEthX) 2,854 4,077 4,187 8,264
FAJNET R 2R 109 110 110 220
FAINETER 194 270 270 540
FaJIET A | 408 571 588 1,159
FHIETREER 137 198 182 380
HET#T E 410 564 571 1,135
FNETAR R 634 837 822 1,659
FHBTRE 580 863 866 1,729
BT 233 716 1,044 1,029 2,073
F)IETFEEE 188 228 259 487
FIETRIE R 53 72 78 150
)BT LR BT 54 87 93 180
)BT FRET 42 71 75 146
fNBET—BH 33 62 50 112
)BT R 143 200 195 395
8 BT RS 294 416 396 812
STCRNIHRER) 3,995 5,593 5,584 11,177
EXTRETHS 338 442 450 892
ELTRET5IH 92 122 110 232
ETRETEE 296 454 462 916
E 1T RET[RZH 1,472 1,986 1,949 3,935
ET RET/NR 394 523 560 1,083
=1 RETKEF 336 517 557 1,074
=+ RETEFR 1,933 2,728 2,696 5,424
ETREI/NE 1,718 2,359 2,388 4,747
ELRETAH 955 1,368 1,356 2,724
ELT RETRE 109 167 167 334
ETRETHZ KRG 87 123 127 250
ELRETLAO 79 106 112 218
ETRETEIR 197 303 292 595
=1 RETFREL 327 380 364 744
FHETRBX) 8,333 11,578 11,590 23,168
& it 142,341 166,169 173,787 339,956




